Do not leave this manual in contact
A Caution with the manikin’ s skin. Ink marks will

be indelible, due to pigment
infiltration.

PH-61 I

Sectional Phantom Series

Instruction

VEREL

Table of Contents

@ Before you start
Manufacturer’s Note and Precaution ..... P.1~P.4

@ Preparation
Assembly . P.5

C KYOTO KAGAKU






Before You Start = Manufacturer’s Note and Precautions

Manufacturer’s Note on PH-61 Sectional Phantom Series

PH-61 Sectional Phantoms are radiology phantoms that allow imaging of individual anatomy as
needed.

Bony structures are created with fidelity even at the joints and cutting planes of the phantom. All
bones are synthetic. Synthetic bones and human tissue substitute materials which consist the
phantom are with close-to-human features against radiation

The head phantom come with the stand for positioning

Specification
4 N\

Product Name: Sectional Phantom

Applications: Plain X-ray
Materials: Human tissue substitute (polyurethane), Synthetic Bone (Epoxy)

Size and Weight: Head 41926-000, 41926-010: W18xD25xH22cm 4. Tkg
Thorax 41926-060, 41926-070: WA5xD24 xH45cm 10 kg
Pelvis 41926-080 © W34 xD24 xH40cm 23 kg

Right Elbow 41926-140, 41926-150: W9 xD8 XxH32cm 1. 6kg
Right Hand 41926-020, 41926-030: W16.5xD6 xH27cm 0. 7kg
Left Hand  41926-040, 41926-050: W19xD7xH27cm 0. 7kg
Right Knee 41926-180, 41926-190: W12xD13xH38cm 3. 4kg
Right Foot 41926-100, 41926-110: W10.5xD24 xH24cm 1. Tkg
Left Foot 41926-120, 41926-130: W10xD22xH20cm 1. 7kg

Range of Movement of Joints
41926-140 Elbow: 90°
41926-150 Elbow: 90°
41926-180 Knee : 90°
41926-190 Knee : 90°

Internal Organs
41926-060 Heart

Accessories : 41926-000, 41926-010: Positioning Stand 1, Screws, Sample Images
41926-060, 41926-070, 41926-080: Sample Images

41926-140, 41926-150: Screws, Sample Images
41926-020~41926-050: Sample Images
41926-180, 41926-190: Screws, Sample Images
41926-100~41926-130: Sample Images




Before You Start  Manufacturer’s note and Precautions

A Please Note

\
1. The contours of the phantoms are slightly emphasized comparing to clinical
images.
2. Although the phantoms are made of human tissue substitute materials, radiation
setting needs to be adjusted when radiographing around the joints.
N\ J

A Precautions

1. Do not force when positioning the phantom. It may cause breakage.
2. Avoid pressure or force on the neck and joints as it may damage the phantom.

3. Do not over-tighten the screw as it may damage the phantom.

4. The fingers of phantom are not designed to be moved. Do not attempt to change
the position of fingers. It may cause breakage.

5. The phantoms are as heavy as human body and dropping a phantom can lead to serious risk
When carrying the thorax or pelvis phantom, work with two or more people for safety

6. Take care so that no pressure or stress is on the connecting part of the phantom
during storage

7. Do not mark with pen of the phantoms. Ink will be absorbed in the material and will
be irremovable

8. Do not leave printed materials on the surface of the phantoms. Ink will be absorbed
in the material and will be irremovable

9.To clean the phantom, its components and accessories, wipe the surface with a
piece of soft cloth moistened with water or mild detergent. Use of alcohl (including
the one for disinfection) or organic solvent is strongly discouraged as it may damage
the coating and painting

12



Before You Start

Components of Sectional Phantoms

41926-000, 41926-010 Head

41926-060, 41926-070 Thorax

41926-080 Pelvis

41926-140, 41926-150 Right Elbow

[temtt Part Name QTy
1|Head Phantom 1
2|Screws M10x15 2
3|Hight Adjuster 1
4|Base Panel 1
5|Neck Connector 1
6|Fixture Plate 1
7|Fixture Knob 1
8|Bolt with Knob M6 x 18 2

[tem# Part Name QTyY
9|Thorax Phantom 1

10|Heart 1
11|Diaphragm 1
Itemt Part Name QTyY
12[Pelvis Phantom 1
[tem# Part Name QTY
13[Right Elbow Phantom 1
14|Bolt M6x%60 2
15|Nut M6 2
16{Connector 1

3




41926-020, 41926-030 Right Hand

41926-040, 41926-050 Left Hand

41926-180, 41926-190 Right Knee

41926-100, 41926-110 Right Foot

41926-120, 41926-130 Left Foot

[temtt Part Name QTyY
17(Right Hand Phantom 1
[temi Part Name QTY
18[Left Hand Phantom 1
[temtt Part Name QTY
19|Right Knee Phantom 1
20(Bold M12x18 2
21|Connector 1
[temtt Part Name QTyY
22|Right Foot Phantom 1
[temi Part Name QTY
23|Left Foot Phantom 1

4

*Appearance of the phantoms may possibly different from the photos.




Assemb |y

< Assebly of positioning Stand and Setting of the Head Phantom >

1.Mount the head phantom to the neck connector (5) and Fix it with two screws(2).

CIJ (2) Boit

M10x15%x2

2. Assemble the two panels. Attach the height adjustment panel (#8) to the
base panel (#4) at right angle and fix with two screws.

Then, insert the end of the neck connector (#5) in the slit in the panel
and fix it with the fixture (#6 and 7). Fixture Knob

M6x18x%2

©

3. The phantom is ready.

Adjust the height of the neck as needed,
by loosen the fixture and slide it
through the slit.

Tighten the fixture again at the
designated height.

o
%
X




Do not let ink from pens, newspapers, this manual or other ink containing
sources in contact with the manikin.

Ink marks on the manikin will be irremovable.

L] KYOTO KAGAKU co..Ltp

URL.:http://www.kyotokagaku.com  e-mail:rw-kyoto@kyotokagaku.co.jp

m Worldwide Inquiries and Orders

Kyoto Kagaku Head Office and Factories:

TEL @ +81-75-605-2510 FAX : +81-75-605-2519

15 Kitanekoya-cho, Fushimi-ku, Kyoto, 612-8388, JAPAN
m All American regions

Kyoto Kagaku America Inc.

TEL : 1-310-325-8860 FAX : 1-310-325-8867

3109 Lomita Boulevard, Torrance, CA 90505-5108, USA
m Europe, Russia & Africa

Kyoto Kagaku Europe GmbH.

TEL @ +49-69-5060-28160

De-Saint-Exupery-Str.10, 60549 Frankfurt, Germany

The contents of the instruction manual are subject to change without prior notice.

No part of this instruction manual may be reproduced or transmitted in any form without permission from the manufacturer.

Please contact manufacturer for extra copies of this manual which may contain important updates and revisions.

Please contact manufacturer with any discrepancies in this manual or product feedback. Your cooperation is greatly appreciated.



% 1 £ )V REICURBIE DRI & 1
BN AL E Sl LTFEL,
IRl > 7 HEE L CHAT <7
VET.

PH-61 I

Sectional Phantom

o a IV 7ML

ARk EAE

B X

@ ZfERDHIIC
TEAMOBER L ER
@ % {7
BHITICDUNT crrrrrrrre it P.5

C i REFEF






C{ERDRYIC CIEROEDRL R

I3 FIVT L HallE

I3 FIVT 7Y R L. AMEREBRORTHRELGEMULIT Z R L TEASXRREADT 7 M AT

?‘O
FEERD. BEEEDICOVTIE. BORRHEBRICBIRTN, ERLEELHE2EEHRIE—UER LEVEE
IZHE2TVET,
BIETRTALIBEZFEALTVEYT, FRALE EFTHEEIDIIBEHRITHT LAFISEWSEE & o B
BMTTETVLEY,
BRI DOVWTIERI Y a ZVTRADAZ Y FHMIBLTVET,

1t ¥

~ R

X :tvo3FIvT77 VA

B mERAGT7 7V A

ME  SHEBE M (KUY L2 U8R - BE M (TR 8R)

KETLEE : 5828 41926-000. 41926-010 : W18 xD25XH22cm  #14.7kg
BER 41926-060. 41926-070 : W45 X D24 XH45cm  #910kg
FELR 41926-080 : W34 X D24 XH40cm  #923kg
A8T 41926-140. 41926-150 : WOXD8XH32cm #91.6kg
AF 41926-020, 41926-030 : W16.5XD6XH27cm  $90.7kg
A 41926-040. 41926-050 : W19X D7 XH27cm  #90.7kg
AR 41926-180, 41926-190 : W12XD13XH38cm #93.4kg
AR 41926-100, 41926-110 : W10.5XD24XH24cm #91.7kg
AR 41926-120. 41926-130 : W10XD22XH20cm #491.7kg

A& 9 SRS & nIBhEE
41926-140 RRSES : 90°
41926-150 BESES : 90°
41926-180 BARSHES : 90°
41926-190 FARSES : 90°

=T

41926-060 DM

{JEdm - 41926-000. 41926-010 : EEHEERE 1 8. KAXRY. YV 7IVEK
41926-060, 41926-070, 41926-080 : > 7VE{&
41926-140, 41926-150 : AR Y. Y 7TIVEK
41926-020~41926-050 : ¥ 7)VE§
41926-180, 41926-190 : AR Y. Y TIVEK
41926-100~41926-130 : 4> 7IVE /&




C{ERDAIIC TERTOHERL TR

AN cEEETL

O ZDT 7+ LIFREOBRKERICLENEOHIBH L LEHATNS L S ERMICESN

@ 777 b LIISHEHRICH LAKISEVFEZ S D METHESNTWETH. BiE LS
B DBEFRGIETERERLGVET,

\

OBHEOHZTNHHYEITOT, BELGRI Y a7 ERJICLEVTLREL,
QBEOEZNHLHYETDT, BEPEHHANCKEGNIIDISHENKIITLTLIEEL,
QOBBEDOEZTNHLHYETITDT, XIBRIHEFITES LHTELGLELSICLTLEL,

DIEZPHI LB TEF A, BIEOFERICGY ETTOTIHEZHITBIEETHVNTIRLE
(A

O ZNT7Y L. NMEERFDEENHYVETEFI B EHEICRKRTT . WERLERZSE
TEBGEIE. TAZELGEVE S ICT 2B U ETRYER ST EEL,
O RERICEEZLTI. 777 FLOBEABMICAREI/EHLI SHEOLRICLTTEL,

DHAINY R—IRVETETIVORENCEERAHZ LEWTLLEN, 170 RIRENH
ZIE<IFVET,

® ETIVREICEIRIGENERMNGEOLIICLTLIEEY, #EICA I EEENEALLE
VESH

@777 A, BRESRELUNBERZFRT 2. KELBPEARITES BRSOV
TREZHWVWTLLEEY, 73—V CEEREE) PERBEIOERIE. ZRVPEREERS
HEENDHVEIT DT, HERFITEIFTLIEEL,

0 EREIR. BEZEPESFANDHSEFRTOREIFEIFTILEL,
ERPHEORRELEDET,

2



CIER DRI

CEABDMERE R

Yo aFIVT 77 b LERERR

41926-000. 41926-010

41926-060, 41926-070 A9&ER

41926-080 FEER

41926-140, 41926-150 HEAS

EEEM

MmES BN 18122
1[EBER 7 7~ b L 11&]

2|58 HEREER A AL b M10x 15 |21@

3| E MIBEEE 11&

VAPES 11&

5| & Bl B an 118

6|/ 7= 118
TN&SEER/ 7% 118

8|/ 7fHHIL b~ M6x18 21
mEs |BTR {(EE3
IMER T 7>~ b L 11&

10|/ 11&
11|#EFRRE 11&
HmES |BIR 1%
12|fBER 7 7 > b L 11&
MmES BN (R
BER7 7> A 1@
14|fHEERARIL M M6X60 21
15|fEERA Y M6 21

16|46 A ER & 118

3




41926-020, 41926-030 HF

41926-040, 41926-050 %=+

41926-180, 41926-190 A&

41926-100, 41926-110 A2

41926-120, 41926-130 %&£ 2

HmEs &R & %%
171\ &EF 77 A 11&
BmEs &R Bk
18lEF77> F L &
HmES [N &2
A7 7> b LA 11&
20| ARIL b M12%18 21
21| BB R 11&
HmES &R &%
21877 LA 11&
BmEs &R B2
23|ER 77V hLA 1@

4

KEBMONRIRIRIFOEMEIEGTBHEELHIVET ., FOHTTEILLEL,




$HITIC DT

< EEEREIERE DML & ERDES D
1. BEpES R (BRmES 5) LERMOERRS Z. 5 - BEERARIV b

(ZRBE2) 2ATEELET.
NIV b
M10x15%x2

2. EREIEARZHEHIITE T, ETEREER (BaES 3) LER (#Bm

A

B4 %/ 7RIV (BBRES 8)24KTREELET,

RICEBIZESESR (BRRES 5) DigDME%E E TFUEBREEFDA Y v M J IR b
M6x18x%2

==
ZLiAdr. /72K (BRBES6) ZBLET, RIHEEAER/ THx

TV (BmES7) TAELET,

3. EEERDEY T4 VIRT,
XEETEER/ THRY (BREST)
TEZHBLET SR T ZRGH LT
Ty,

oN
?
ok




A :i ~r ETILREICEIRGRAZCNRINEG ENEEMAEVESICLTLESL,
e BiEREICA VO NBRRENBER RS BRYET,

L RIS, BECEFORFE. &L ST WREHEE TR LT,

G =t -hﬁI}*SII—%‘I URL : http://www.kyotokagaku.com

=1t 2\

WAt - T35
T612-8388 REBHRREXILE/NEET15EM
TEL:075-605-2510 (&)
FAX:075-605-2519

2024.05

e-mail : rw-kyoto@kyotokagaku.co.jp

MRS
T113-0033 RRAXRXAM=T H26&E 6=
NREGAF=T B &L 2R
TEL:03-3817-8071 (E5&)
FAX:03-3817-8075





